S B
- ——

'(")vx 2 Sl o s —gj' e X Ei“‘km: () = @

2-\ e s\ 3Gz 0, we  gelve RGO e

wre QS8 WA Aak '-ﬂ-.;\ = c\(_a\ RS R (0

D_ie_‘ Lt"‘x‘-; ?;\A) E N GeaN V\\A.--«\e:r-. P v CAJJ.LA o ﬂ‘md




e g Teede

\J\b\b Ao W\v—e j(w\: Pal .?
P
e e e R B e ez 2
P, = g '¢%.)

= ‘KL‘?\\

e (] )

Pn_\_\ = %k?‘\\ oW = ol\"z_,_ 1403
W& C_‘_QJ —\L\{s ?m [l iy —-E. xe} ?Q\I\y r

ernted
_W“" ’X“g % VA ij;gaimwsw\ a\,\A e C,&iwas&(a Qle’“ rﬁj\'

S f;y_p_,b ?s\»&\ it&ﬁw&’w\"\ C.lf\/\v-cr"a/"s Lo (\j -\-\I“QJ\«-\

e

: ' Ca()=¢)

“i fme{' : ?: L:w\ ?“,,.\ = ﬂ:\\w\ ‘a&?v\\): 3(?::?“\: Cj(?)
‘ o g & .... :
C.sw.?c\l\v\\\j
J‘?‘ i' 3 3Q3), 2o 3\-—'0-. -2
I:)Len 7&_%__\?_—:(5. T RS S ~3Z W
7'&8“““‘"‘“ ‘3(!7\.\ = KL_._\")__ \ e _g((_'n\ = 1

_‘c(m\: j(.m.)- > = O é—> GL‘*\)‘:-'}L

=% T = S D e

it B

(23 7

e A i

Jpliodaded by. anonvimnou




@ L J > -\

t'g- \?n:g- |l¥-na- ?\:i_\; zq.\lg\

?'L e AN (D\S-\‘\

?q R o800 00 ——x Conreg %o

DO\nce Ne ‘%r"—‘%wpqu Con w5 = el _ \ Wy o | AR ‘—QT\A ?b\“l

@ ')L(")(___\\_.__\l _——_—> e = et
7 —)
1%
Xo = L ?\ Eel : ?1, e
P} :Zq- : (\3\\_ i =
Vr: / VL '—-‘—Z,OS—‘
Yq = b.( I?% :—36
e S e

i c:ﬂv‘& S\ v qﬂ Quatsti g
a\e ¥ -‘g Trembkton  Yerw g

STUDENTS-HUB.com o Uploaded By: anonyMous



VAR~ Q\QD“-*\_; aske
SN Wler. @ %D\'v&\u*? Soer Ny selhvhee s \Avx\a\\f«?

Bl e R Converges o Y Kiyed pond 2

o Give S @7 -\\‘k‘\t 3‘\,\{&\0\«5 wt 'Q\-ﬂv-‘- AR ‘Eb\\o_)y\s _\\.\.,._

/

TS R R G o

3(“16 [:q‘!>~& '\/XED\Ll
e t} \es P los oo ome  Pyed \Dm& S E‘:’ \ \;S
Y:\»r'“n-a-vwsm i Ti

%,C“J v de fed  on (Q\L)

— T —

%( a ?OS\\'\‘M Cms\'__e..&- I3 <\ B -w\_\_\’\
\ e < Vo e L)

a umlﬁj\v-z Fived ponk e = Ea‘l;l'
Y

e —v_‘g S 2% [-°|—X'

|

..
B pon RV e i

| R
Sve e = i

+ p ||:

B Lo " \;I

&

ISR PP R
; =2

SRR CN R T



|
~

i Lo e SR S R N
o R S W

-S--{' Not \ e Skﬂ)> a & al (,\a) 4 \-"
o AR N ;G R R
S e qla) _a > o

RN (L) - LA D
> | \r\ %«.‘L‘S‘Q‘—LJ ‘S“‘\'éﬂv\b‘s A ,\\,\c_n_‘e\:ﬂ Vere ek

€ DR e N Y b AL e @

= A TR S as((,\ S Cao
— e ., o A fhe s S Tat)

\\de 3 ‘f.o{ Uv\\"'ae\g\.\es_\,\.
%\Aﬂos&_ Ner XN g él‘g‘—eef&.ﬂ ‘Pc{\kab “:.{,\9;4 ?\ a\J?

7=

Lb‘\‘OG- .{RQ‘VN ?‘ < ?L

R Avovy s \i l?,_\ G Ea,Lj,

-%/(c.) = 3("\)_ ﬁ(f\) = ?L—P\.

_—

P'L X P\ ?L"Q\

& b e C ("‘L
. R _plca,de* By: and:;l@‘n'

S

ous



3. & Uwvque

Eto-gu Broo P | 9 (o) = ~5-) Yo s
Toves ‘?O'& o~ L~ ¥, \‘S .

So \. R = n Cu‘v& N E“,D

—_—

GV gl € TN R e weed e sy B

e (L) ave
1 > 6\,..('3\\7\\ % Do ’A»& Al K\ ?X Qﬂ a )

Ve = \(1\
e e & Y\ e\,\é ‘Jﬁ\\ﬁg&

—T . . s
vt v Lo L vAave Voo O CCw s

u&Jr\M ~decwd o ‘e 3/C%\:®

g e = =©
% () =zo = ‘ - - O = =
‘j(-\\ = [ _
" t—\l — "3 Aa ﬁ-Q\Leé ‘?0\&
3(\) = O sl 3( e T& = ‘
~\
j(_b) - ,—3’
- ¢ (-\,))
o w \a/(%\\: \ %7{.\ < z <\ ; N e ( W

STUDENTS-HUB.com Uploaded By: anonymous



——E:L ¥ived ?o-.&‘ \'\""‘“ E

I\ 55wt IRWN @ 9 Bandd 3/ c CYta )

(&) K o f\)ost\-‘we Con st I

) P (a L)

W g0 ¢ Lat) LY = & [e )

D 1% Vel < e <Yy e Gy Bl e

For a4 T, i (Q.L\ [ P ﬁa%u.u«ce; de Pined \‘"ay

Fv‘\m_ = cﬁ&?v@)t ) V\?"o C,mn\/‘ct“gu‘. S ~4*\\-L Uv\\ﬁgv\g

rs (L =
B~ U_QJ\

f\'&ag ?a\'& ?, NN fa\ l:»j

Vo sy Ce i= Voo send a e o\%md—\‘& Roved PQWQ.

D TE g W), ¥ e €G] e
e O kel - CASV\\J-{’{’?L o ?_
..S’Q‘Sv\?/v\c‘q Pv\-ﬂ = 3 k?“’P &/)ﬁl;/\m’réé

/}' SR - Y Coste ’E \;, Sa\é oy \Dl EE()V\_\&\\\FQ_ 'ﬁ‘\‘,{.al ?t

_3\3 11X \1/(»\)\; \ D e e PV Eq;\e_o\_

)

Qe

STUDENTS-HUB.com Uploaded By: anonymous



|
|
|
|

. Ay \A Nan '\;AM Q‘
=== ‘

_g\‘ ’.Q‘n;.eA ?-w& ¥ - EO,L‘\ RN ‘3L§§:&

\\)\DO 6\(\5& j(%) CT [_D'l Lb\ \ V > &= t&\\oj "\A""Q""\ %«L

Seqwence TS o et Ve & %, €00}

=0
Woo \\5\,\3 e fa\c\: \ ﬂ/(%)\ é. \C<\ , Y o & .]fq/ ‘I;.—l
. .
s ‘ NEP‘,._\Irl \f\i\r{\ ﬁCC): \r\-)b’_“\
QJ WS ey Meon  valwe P we YR

[ R G e N L C I (Ol 19l V7 = %

é K \.?\._ — ?\ ! R e = = C"\\:)

\_93 ’S.\NAV\L'C\U\A-'.

Ve v & ok Ve -t S A S B A K S
St e s {w <) SV %?\_".,“;k = & .

o oo e MR\ g k™ VRN = 6

. L %= T

‘ STUDENTS-HUB.com ‘ Uploaded By:\/a%oﬁymous



(Q#2) )( 15 Points) Consider the fixed point iteration ppeq = Y pn + 1 = g(py) .

v
a- Show that g(x) has:lﬁ@dﬁpﬁml [1,2).

\ A b- Show that if py € I, then the fixed point iteration converges.
Moy A c- Estimate the fixed point p starting with py = 1.5 , (do only 41terat10ns)
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